EAGRAROBREERT — 2 N— ABISH —F

2021438100 (K) 18mAF#3H

(AR5 %R3m® 135HE19 2K

‘ [Riz] ¥ ‘ [REBE] — | & (%) 12000 4=

[A&E£] 17 :2,200,000  ~ 237 :880,000 37 :550,000 "

4 7% :330,000 @ 5 & :220,000 M

& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
AHIESE 114, - . — BERLR ()
. B DR ol g v | Jwel = [ e ERRn G
LNZ=NYL R B:ILN=-U—> [ij=skae
= e HTHE A 4. - . - WiERe (KH)
1 : RIS AT i e z2 % i e it
R:VZRB—IZXE— B: A3 21— =R %5
#o3 | BEE— 1:15.3 53 387 — | 10 | 411 |$EIIC_ (IR
3158 74 b b 54.0 (5) -2) SHE=
RTw S INEry b BRIV RIXYyYa Bikeh) 145
(S . s 3 | FMEFEA 1:15.7 9-8 38.9| — 7 433 | RIMTR (KH)
40711 FE DA 54.0 () © MFER
Z:aAnN/UFy—F~ B:5TI-TI— [itagse]
RS 4 3 | PEFIH 1:16.0 13-13 [ 38.7| — 14 | 440 |FEBMME (KIH)
557 h>/rav 56.0 (1 1/2) (-p) | FERIE—
LN=HNK B:T7I7vHvLERY SrhrTr—L
=55 5,= i 3 | AEE 1:16.2 8-6 39.4| — 6 455 | A1LFEE (KH)
6 10 TIUAINYT 4 54.0 (1 1/4) (-4) HEH
R:TVa-h7F¥—/ B: 9 IZXR7 LYY RT77—4A
; 4 3 | HEKRE 1:16.3 4-5 39.7| — 12 392 | BEEH (KH)
7 9|AT 4 RA—1 #:53.0 (3/4) (13) | HEBSAT
K7/ =X/ BAF by TI4—> LYTY K77 -4
Sug 4 3 | HIBEXS 1:16.4 7-9 39.6| — 4 489 | BOBELZ (KFH)
818/13 INRY D KR—=T 56.0 (1/2) (-15) (B) HFET77— L
R:bE—XT—F— BNSFEIZ HFET7— L
N [EE-FN :16. — . — JETFEE ()HE)
91712 VA —L>7T s 54.0 1(11/62)5 7 %9 8 ‘zg? Kﬁﬁﬂ%z
R:T7ITIVATLX B:IVET7ITRUZR L e
Sa ft 3 | BEARE 1:16.7 3-4 40.3| — 3 441 | BOBEZ (KH)
Eﬂ 5| EF 54.0 M Cyy | e
R:hE—ZX3—F— BS54 RIAFILEK IS
RPN 4 3 | KEEZ 1:16.7 12-10 [ 39.5| — 1 451 | mITEF (KH)
1"Ml1l1172> 8> 56.0 (74%) (-6) | BAHER
L:7U*—v B:w&Liarb I BB
- X TmE : y _ A=k (K#)
19 6|7 Ky Z1y> 4 3 A 1.71%? 1-11 39.6 13 zzé? i
R:pL>TIyoel B:XTAvAH BB 2V K
. # 3 | EHE 1:16.9 14-14  [39.4| — 11 451 | REBZ (KH)
N - MEERESCEC %0 (e () | BT
Rib—trya—4> B:YIXT4 Fvnil Eitie]
= 4 3 | FEFA 1:17.8 10-11 40.7| — 9 507 | HAR—K (KH)
14 8|14| TV T4 T F 54.0 (4) (-11) | FistEsE
o4O B:w¥/valI RO%%
® 1 —F—@EBIERL
13—=7-—
2a=5=
Ja=9= 2,3,5,9,8,12,13,10,11,14,6,1,7,4
40—F— 2,3,8,5,9,10,12,11,13,1, (6,14) ,7,4
[ /N
B 2 350M 714K 2-3 600F e E 2-3 1,180M JEE 2-3-8 15,490H
B B 2 1604 2-8 1,810 e B 2=3 1,940 3B 2-3-8 43,450/
3 250M 3-8 3,840 B & 2-3 1,380M
8 700M B H 2-3 2,300

ARICOVWTRDTEEERROODE. TR LI,




